72°C. How many atm is the pressure applied to the vessel? (O:
g/mol) - = -—
vanil
v 2

a) 1.2 Vs S$.€ L '9 M,

D) 19 L -

T- 27f'< +2Rf= Sv6 K P- mRT  48Xo.8ux

d) & 05 [2= ? #tm VM- $6 X Je

e) 2 = o +

Mup= 32 r /.2 atm
Leave blank =
29-08¢2/
9-
v P,

S- The pressure ofthegasina &container with an ideal frictionless piston is 2 atmospheres. n the piston is
pushed down until the vessel volume is 4&{1’5, it is observed that the pressure of the gas is 8 atrﬁ'bspheres and the
temperature is 127 °C. What is the initial temperature of the gas in °C? (Assume that the gas behaves ideally.)

e il

a) O 200 I

) g:z«l;m P & abm
b) 105 i =

- UL . )
Q) 52 il i TesIREFC 12+ 4> DL
o)™ 300 - [
COMI”J a‘.‘ e
Leave blank [ ——
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The < » > . :
Thereis 4.8 g of O2 £asin a 5.6 L container at 2

S+



| bar ox L rresponds toh

: 7.3 Q
. : [
‘ l/l
1-90/3
. L.)
4 $.125

Faww Do ‘

Hess law
M
b) ":..3.:'".-. X 2 e 2 Fe + O, —— PY % .

Rk + 20, —Feyoq

. 62, Fe
Leave blank ‘,&o = 'Ii,‘/
&;{ -_> Q( L 1%
\
12-

ko — ~ + RJO‘I
1~ 200 mi of NaOH 5

solution of unknown concentration is titr

,'.fnﬂt, 3T X L

AH = SV iy

D= _1gy ‘3‘

OHz 4+ Syys X 2
QDH: “lsqg Ky

OH = + S¢4 X0 + (-1ll3)

ated with 0.1 M H2504 solution. Sife 4&:‘39’5&1 is
consumed during this process, what is the concentration

3PNMoivtion vy )
2 NaoH 4 Hasov 4 g seuiHhe
a)® 0,1 Gl vs: Yo ml
Z’ ;os c=. 2 RiER ARt i
‘ ' ‘N s
) 16 JaoH H Sau ANaslt P“qu
€) 0.5 v
Leave blank 2>< ' Pk X ‘//W*- I(C ‘ “v)
N
et e Comn = 2 (C{.‘_‘Jﬂq A Vi)
13- Nk
le—
/f\: C,X\-/.‘_j — 2 ( ot X %)
‘E/\Iadf = 6. s | M i

Lon



Find emimalp n Ky I

6- How many kj is the heat released wh
E—

'en 10 mi of ethanol is burned
1367 kJ/mol; its density is 0,789 B/ml s molar mass |s

AW

The molar enthd

| )
a) () -856 e
b)) 1367 .
<) 296 AH= =-I36F K I ) 4
dz 0.781 giml il
; dxv
€ . -1079

M, Y46 9 Imel

Leave blank

m=d xv;: loxoe -F89 = 4-873

- m . &3 0-JFIS me,
14- n= M 76

3 N - -239.9 14
3EF X Q.‘¢l; . — A ‘
= ” : 3 -I ‘ Y+ 6 H20 (D In terms of the t'll!h.!'}ny value;
' ction 4 NH3(g) +5 O2(g) — 4 NO (g) + 6 H2O (I) et
il S ey i jé:; +O2(g) — 2 NOAHZ 2H2 (g) + O2 (g) — 2 H20 AH:
NZ S L

AETES ATy
3) ) 2 AH1 - AH2 -2 AH3 . & N\

o) » M2 o) - ?
the reactions given below, N2 (B)+ 2H2(p)

H % <OH‘|‘ — rov el X
D) . 2AH1 -2 AH2 - 3 AH3 N, + JR, — __,;H-
Q) ® 3 AH1 -2 AH2 -2 AH3 A b-;, N
d) 0 AH1 43 AH2 -2 AH3 < X . —s ANC

2
LR 27 +,""‘: - ‘2':-:
T+ 207 [— 4ypNo +"-M7~
> S + 30~ | —» ¢ H.0 + 30K,
Yihich of the Ot owing sets of (’JQ LIDL s rapres S the .F orbital?

‘/““J + 50; — W\Ib +‘“‘\»
DK
2) 10 (2.1.0,172) N'.'VXA - gLl ’Z,N“"i- ‘th +S N {

16-



g sets of quantum numbers, n, |, ml, ms, represents the 3d orbital?
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